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30 OF AN HEINEAN SERIES.

A few well-known identities may be derived from this
transformation, and as we get very rapidly converging scries,
the results are not without interest.

Putting ¢ =1 after dividing by 1 — ¢, we have
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From this equation we may derive the following well-
known relations.
Let =0, then
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Let 2 =¢t. Then, changing ¢ into ¢*, we get
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Again in (4) if 2 = ¢, then we have

L o
l—q 1-4¢" " 1-¢""""
1-cq cq’ (1 —¢q”) c'q (1 —eq")

Th-gu-g T i-ei-g) T i-agi-g

or better, writing ¢g for ¢ and multiplying by e,

. N - % | , .'l (.l'
b R T AP R e
= = ll=gr " =g T=g =g " 1 =g
(‘Gf!, Y (T!.?.l ’ C‘f,f' ]
l—cé-rl_—cgz-rl—cg”.im’

as may casily be verified by equating coefficients of ¢".
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